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92. fARfAIfI® SaIeassfer fAdfg S@t: [sin z cos 2zdx

o Watch Video Solution

93, THTHPAA Bl : [cos 2z cos 3xdx

° Watch Video Solution

94. J17 AT @I [sin z sin 2zdzx

V.



https://dl.doubtnut.com/l/_TMuLYeawtisV
https://dl.doubtnut.com/l/_8pRgFOpYZ7wk
https://dl.doubtnut.com/l/_AKVrx8MmABkv
https://dl.doubtnut.com/l/_GC0hFcDyVVm9
https://dl.doubtnut.com/l/_0Ok9dVjbJbNB

| ¥ Watch video Solution

1 in4
95, 819 H@H: [sin® z cos 2zdr = 7 <sin2x — SHZ T _ a:) +c

o Watch Video Solution

1
96. 819 FEL: [2 cos? 2z sindxdr = — 1—6(4cos 4z + cos8z) + ¢

o Watch Video Solution

2r — 2
97. g1 Hl: oS 2T — Cos ca dr = 2(zxcosa + sinz) + ¢
COST — COS &

° Watch Video Solution

sinx — cos 2z
98. a1 HT: , dr = — (x +2cosz) + ¢
1+sinz

o Watch Video Solution



https://dl.doubtnut.com/l/_0Ok9dVjbJbNB
https://dl.doubtnut.com/l/_0rWIMkfi9Oug
https://dl.doubtnut.com/l/_d9QmuYFcFb1m
https://dl.doubtnut.com/l/_RO8zrZP5BUGF
https://dl.doubtnut.com/l/_AYbgv0FcnjIT

coS T — CoS 2
99, 9T IdT: v xd:c:a:—|—2sinzc+c
1——cosz

° Watch Video Solution

sin®z — cos®z

1
100. g919 Hdl: dr = — —sin2x + ¢
1 — 2sin?zcos?z 2

o Watch Video Solution

101. fARTRIG SIBenfer fAdy W:/(COS 5z + cos 4z)dx

° Watch Video Solution

102. 9319 @t [sec? z cos? 2zdxr = tanz + sin2z — 2z + ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_KU3qYq379KTY
https://dl.doubtnut.com/l/_91plrjn008qk
https://dl.doubtnut.com/l/_q5Msr8E08m3K
https://dl.doubtnut.com/l/_DTyqgQV9AptX

4 3 1
103. 99719 SCT: cos ¥ de = — (_az + —sin 2z + cot m) +c

sin“ x 2 4

° Watch Video Solution

104. ase DM

1 [sin(m —n)x sin(m + n)x
/sinmx sinnzdz (m2 + n2) — ( ) _ ( )

2 m—n m-+n

o Watch Video Solution

105. AH(6 AERHD AT FEH T AS DS 2T:

G

° Watch Video Solution

1
106./ dx 99 JI4 2d—
x2+1

o Watch Video Solution



https://dl.doubtnut.com/l/_ZZpNLBKpfByM
https://dl.doubtnut.com/l/_H1ns8nOH1rUe
https://dl.doubtnut.com/l/_WKHft0csbHI7
https://dl.doubtnut.com/l/_LEmuTIgzgvD7

107. 71BN SWI = [cos ecxd(cos x)

o Watch Video Solution

108.3M I = /seczazcos ectzdr = Acot®xz + Btanz + Ccotx + D

2, O (d—
1
AA= ——
3
B.B=2
cCC= -2
D. aid (SIAIB2 A
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LEmuTIgzgvD7
https://dl.doubtnut.com/l/_dCo3MdcSzoZn
https://dl.doubtnut.com/l/_H4L3cnaQQcmA

109. SIPeTA Bl : [cos zd(secz)

° Watch Video Solution

10. f(z) = /(a:s + 4)dz 2, ©[f(0) 97 FIH 2@

o Watch Video Solution

. /sin2a: sin3zdz — Snzm _ Smléfx 1 ¢, W K93 ¥4 3@—

° Watch Video Solution

dzx T T

o Watch Video Solution



https://dl.doubtnut.com/l/_kKOpRC1hGeY7
https://dl.doubtnut.com/l/_TCyBohejDFah
https://dl.doubtnut.com/l/_Swjtm6m6LjvL
https://dl.doubtnut.com/l/_RUErAeyhP28r

113. /d—x a9 T T@—
(22 —7)

° Watch Video Solution

4 1 1
114. /COS mdw: — K £+—sin2:1:—|——c0t:c + ¢ 2, ©W@ K
sin® 2 2 12 3
ad 914 2d—

° Watch Video Solution

z3 — Tz + 2 1
115. drx = 2x —nloglz| — — + ¢ &, B na3 A
z3 + 222 T

A(JI—

° Watch Video Solution

1 1+ cosz , sinz

116. I W, f(z) = tan

/{f(w) + g(z)}da =

ARg(z) = tan~

sinx 1——cosz


https://dl.doubtnut.com/l/_N5akeOuVx3JM
https://dl.doubtnut.com/l/_pK6YaCAwQm7e
https://dl.doubtnut.com/l/_9CXIwUfoKa6V
https://dl.doubtnut.com/l/_VJ0VDAMJrsbw

AT 4
© 2 4
B.mx xz—i—c
7"' — —

2
T
" 1 c

72
D7r:c—|—7+c

Answer:

° Watch Video Solution

1+ coszx sinx
1" a3eg(x) = tan~?

117. JH I, =1t -
7 f(a:) an inzx 1——coszx

/{f(w) — g(x)}dz =

A e +c
2
B.— +¢

C.0

D.7r:n+a:2—i—c


https://dl.doubtnut.com/l/_VJ0VDAMJrsbw
https://dl.doubtnut.com/l/_8o9VaFrArbGb

Answer:

° Watch Video Solution

118. 9 F&H, f(2) = tan

[rte.) - sta)| a2 -

sinx

A ™ x L
) 4

B. mx z” +c

’ 4

C.mx + z” +c

’ 4

D. Ad (PIHIB2 77

Answer:

1 1+ cosz

a3 g(z) = tan"~

1

sin x

1—cosz

o Watch Video Solution



https://dl.doubtnut.com/l/_8o9VaFrArbGb
https://dl.doubtnut.com/l/_10FUSwhQLnVz

119. ¥ $WI, f(z) = cos 7x cos 3z, g(x) = sin 7z sin 3z

/f(m)da: =

1. 1 .
A. Zsm4m + 1—08111 10z + ¢

1 1
B. gsin4m + %sin 10z + ¢

1 1
C. gsin4az + %sin 10z + ¢

D. aid (BIAIB2 A

Answer:

o Watch Video Solution

120. ¥ T, f(x) = cos Tz cos 3z, g(x) = sin 7z sin 3z

/g(a:)dx =

1
A. gsin4:1: — %sin 10x + ¢

) 1
B. 251114:1: — 1—03111 10z + ¢


https://dl.doubtnut.com/l/_4kcRrpF4oFhD
https://dl.doubtnut.com/l/_lq4e9b3ilbsO

1. 1 .
C. Zsm4a: + %sm 10z + ¢

1 1
D. Zsm4w + ﬁsm 10z + ¢

Answer:

o Watch Video Solution

121. 9 @I, f(z) = cos Tz cos 3z, g(x) = sin Tz sin 3z

/{f<:c> + g(z)}da =

1
A. gsin4a: +c

1 .
B. 1—0s1n 10z + ¢

1
C. Zsin4m +c

1
D. 2—05111 10z + ¢

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_lq4e9b3ilbsO
https://dl.doubtnut.com/l/_i4QRWv0zD4NQ




